HW Graphing Trig Functions

Name: W

Period: ___ Date
Complete the following table:
FUNCTION AMPLITUDE | PERIOD VERTICAL HORIZONTAL
SHIFT SHIFT
1. y=-2si
Y= L 27 | hone | nNone
2. y=3cos(x + £) :
- Ko iy NoN4 |2 ft Tr}')__
3. y=4+t ;
d 2 NoplL Al wp 4 NoNL
__1 1
4, y ——ESID(XHJZ') /?) 1 NS - 0\\\_,(_,.“_
5. y=-sin(%x-%) .
Y= - Sin (1(x-T) | 4 nane iqnt
6. y=cot(x+£) .
‘ honk | T hone | lesy T/
7. y=2-3sin (x—2) ] T
y= -Zon(x2) 12 5 L We L ignA 2
8. y =-3cos(2x) 2 T Mo, ——
D
9. y= 2)-5
Y=cosipere] hone T |downS | e L
10. y=-2 +tan(x—3 , ‘
3\:I:. m\L:\(‘{;\ )’)_ hbh{/ T VH}M?) OABVOT\ ’)._

In general:

11. The following graphs have a standard period of 7: ‘JL—(M‘\ b‘) ; Co j(' [‘/\\

12. The following graphs have a standard period of 2 7: SH‘\ [‘Aﬁf, o SL)’\) R (ﬁd}i—): SCE ()Cb

13. Which of the trig graphs have amplitude? S]n ( ‘>C) ; o S[‘K)

14. Which of the trig graphs don’t have an amplitude?‘tb‘\bb . Coﬂ.x\ ; ¢ SQJ()’{‘)) N L)ﬁ)

1. Which of the trig graphs have asymptotes? ’tﬂnb}\\ : Coll ‘}51 CSLLR) : Sﬁ(/(,)ﬁ\l :




